
1.Select the correct mirror image of the given

combination when the mirror is placed at

MN as shown.

दिए गए संयोजन के सही िर्पण प्रतिबबंब का चयन

कीतजए जब िर्पण को MN र्र रखा जािा ह,ै जसैा दक

दिखाया गया ह।ै



1.Select the correct mirror image of the given

combination when the mirror is placed at

MN as shown.

दिए गए संयोजन के सही िर्पण प्रतिबबंब का चयन

कीतजए जब िर्पण को MN र्र रखा जािा ह,ै जसैा दक

दिखाया गया ह।ै



Q.1 DIRECTIONS: Choose the correct alternative from the

given ones that will complete the series.

तनिशे: प्रश्न में से उसे चुतनए, जो अनुक्रम को र्ूरा करेगा।

6, 14, 36, 98, 276 ?

A] 546 B] 794

C] 693 D] 429



Q.2 Given that on 27th February 2003 is 

Thursday. What was the day on 27th February 

1603?/

यदि 27 फरवरी 2003 को गुरूवार ह,ै िो 27 फरवरी 

1603 को क्या दिन था?

A] Monday B] Thursday

C] Sunday D] Tuesday



Q.3Which of the following number represent unmarried 

nurses in hospital? 

इनमें से कौन-सी संख्या अस्र्िाल की प्रतशतिि अतववातहि नसों के 

प्रतितनतित्व को िशापिा है?

(a) 6 (b) 5

(c) 7 and 4 (d) 1 and 4



4.Complete the given series

िी गई श्रंखला को र्ूरा करें?

jklklmnlmnopmnopqr __ __ __

__ __ __

A] opqnrst. B] mnopqrs.

C] rstuvwx. D] nopqrst.



Q.5 Select the related word/letters/number from the

given alternatives. दिए गए तवकल्र्ों में से सबंंतिि

शब्ि/अिर/सखं्या को चुतनए।

Convenient : Inconvenient :: Reveal :? / उर्युक्त : 

अनउर्युक्त :: उजागर करना :?

A] Outspoken/ स्र्ष्टवािी

B] Disclose / खुलासा करना

C] Conceal / तिर्ाना

D] Communicate/ संचाररि करना



Q.6 One morning after sunrise Prakash while going to school 

met Ravi at Boring road crossing. Ravi's shadow was exactly to 

the right of Prakash. If they were face to face, which direction 

was Prakash facing? 

सूयोिय के बाि एक सुबह प्रकाश स्कूल जाने के िौरान सड़क र्ार करने र्र रतव 

से मुलाकाि की। रतव की िाया तबल्कुल प्रकाश के िायीं िरफ थी। अगर वे आमने-

सामने थे, िो प्रकाश दकस दिशा का सामना कर रहा था?

A] East /र्ूवप B] South-West /ितिण-र्तिम

C] South-East /ितिण-र्वूपD] South/ितिण



Q.7 If in a certain code language, 851 means 

'good sweet fruit'; 783 means 'good red rose' and 

341 means 'rose and fruit' which of the following 

digits stands for 'sweet' in that language? 

यदि दकसी कूट भाषा में 851 का मिलब 'good sweet 

fruit' ह;ै 783 का मिलब ' good red rose' और 341 का 

मिलब 'rose and fruit' हैं, िो शब्ि 'sweet' को कौन-सा

अंक िशापिा ह।ै

(a) 8 (b) 5

(c) 1 (d) 3



Q.8 DIRECTIONS: Select the missing number from 

the given responses. तनिशे: : प्रश्न में, दिए गए तवकल्र्ों में 

से लुप्त संख्या ज्ांि कीतजए। 

(a) 40 (b) 64

(c) 92 (d) 83



Q.9 DIRECTIONS: In the question below, choose the correct 

water image of the question figure from the answer figures. 

तनिशे: नीचे दिए गए प्रश् न में, उत् िर आकर तियों में से प्रश् न आकर ति का सही जल 

प्रतिबबंब का चयन करें।



Q.10 DIRECTIONS: Select the missing number from 

the given responses. 

तनिशे: प्रश्न में, दिए गए तवकल्र्ों में से लुप्त संख्या ज्ांि कीतजए।

(a) 4 (b) 3

(c) 5 (d) 6



Q.11 DIRECTIONS: In the following questions a piece of paper is folded in the manner 

shown in the question figure(s). Select the figure out of the answer choices showing 

the unfolded pattern after the punches (cut). 

तनिशे: दिए गए प्रश्न में एक र्ेर्र को कुि तनिशेानुसार मोड़ा गया ह ैऔर दफर उस र्र कुि कट लगाए गए 

ह।ै आर्को यह ज्ाि करना ह ैदक इस र्ेर्र को खोलने र्र यह कैसा दिखेगा? 



Q.12 The Monk told the Adom ‘The bell is rung at 

regular intervals of 45 min. The last bell was rung 5 

min. ago. The next bell is to be rung at 5: 45 am. At 

what time did the Monk give the information to the 

Adom? 

तभिु ने ऐडम को बिाया 'घंटी 45 तमनट के तनयतमि अंिराल र्र 

बज रही ह।ै आतखरी घंटी 5 तमनट र्हले बजी थी। अगली घंटी 5: 

45 बजे बजिी ह।ै तभिु ने दकस समय ऐडम को जानकारी िी थी?  

A] सुबह 6:55 बजे। B] सुबह 7:00 बजे।

C] सुबह 5:05 बजे। D] सुबह 7:40 बजे।



Q.13 A man pointing to a photograph says, ‘‘ The 

lady in the photograph is my nephew’s maternal 

grand mother.’’ How is the lady in the photograph 

related to the man’s sister who has no other sister? 

एक आिमी एक िस्वीर की ओर इशारा करिे हुए कहिा है, 

"िस्वीर में जो मतहला ह ैवो मेरे भांजे की नानी ह।ै" िस्वीर में जो 

लड़की ह ैवह उस आिमी की बहन से दकस प्रकार सम्बंतिि ह ै

तजसकी कोई ओर बहन नहीं है?   

A] कतजन/ Cousin. B] ननि/ भाभी / Sister-in-

law.

C] मााँ/ Mother. D] सास/ Mother-in-law.



Q.14.In the following question, select the

related number from the given

alternatives.

तनम् नतलतखि प्रश् न में दिए गए तवकल् र्ों में से

सम् बतधिि संख् या को चुतनए।

3222 : 7222 : 3327 : ?

A] 9949 B] 8838

C] 7327 D] 2212



Q.15 If 264 * 2 = 6, 870 * 3 = 11, then

735 * 5 = ?

यदि 264 * 2 = 6, 870 * 3 = 11, िो 735

* 5 = ? 2

(a) 05 (b) 12

(c) 16 (d) 03



Q.16 Each odd digit in the number 5263187 is substituted by the next 

higher digit and each even digit is substituted by the previous lower 

digit and the digits, so obtained are rearranged in ascending order, 

which of the following will be the third digit from the left end after the 

rearrangement?

संख् या 5263187 में प्रत् यके तवषय अंकों को अगले उच् च अंकों से प्रति स् थातर्ि दकया गया 

ह ैऔर प्रत् येक सम अंकों को तर्िले कम अंको द्वारा प्रतिस् थातर्ि दकया गया ह ैप्राप् ि संख् या 

को र्ुन: बढ़िे क्रम में व् यवतस्थि दकया गया है, र्ुनपव् यवस् था के बाि, बाए िोर से, िीसरा 

अंक तनम् न में से कौन-सा होगा?

(a) 2 (b) 4

(c) 5 (d) 6



Q.17 Which number will be in opposite of 3, if 

four different positions of a dice are as shown 

below ? 

यदि एक र्ासे को तवतभन्न तस्थतियों के अनुसार िशापया गया 

ह ैिो 3 के तवर्रीि कौन सी संख्या होगी ? 

(a) 6 (b) 4

(c) 3 (d) 2



Q.18 Fernandel and Arletty starts from their office and walk in 

opposite direction each travelling 10 km. Fernandel then turns left 

and walks 10 km. Arletty turns right and walks 10 km. How far are 

they now from each other? 

फेरनेध डल और एरलेट्टी अर्ने िफ्िर से चलना शुरु करिी ह ैऔर तवर्रीि दिशा में 

प्रत् येक 10 दकमी चलिी ह।ै फेरनेध डल दफर बााँये मुड़िी ह ैऔर 10 दकमी चलिी ह।ै 

एरलेटी िााँये मुड़िी ह ैऔर 10 दकमी चलिी ह।ै वे िोनों एक िसूरे से दकिनी िरूी 

र्र ह ै?  
A] 10 दकमी B] 5 दकमी

C] 8 दकमी D] 20 दकमी



Q.19 Find the 3rd word after arranging the following

words in the order in which they appear in the

English Dictionary

तनम्नतलतखि शब्िों को अगं्रेजी कोश के क्रमानसुार व्यवतस्थि

करके, उनमें से िीसरा शब्ि ज्ाि कीतजए।

A] Perceive B] Percaline

C] Percentiles D] Perceptibility



Q.20 Select the related word/number from the 

given alternatives. प्रश्न में दिए गए तवकल्र्ों में से 

सम्बतधिि शब्ि/सखं्या को चुतनए।

A] Jeevan Raksha Padak /जीवन रिा र्िक

B] Param Vir Chakra /र्रम वीर चक्र

C] Padma Bhushan /र्िम भूषण

D] Bharat Ratna/भारि रत्न
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